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COMPUTER OPERATOR AND PROGRAMMING ASSISTANT

Choose the correct answer for the following questions: (1X50= 50)

s

The technology used for online payments is termed as:
(a) Online transaction

(b) Payment gateway

(c) Banking

(d) None of the above

Which of the following does cybercrime include?
(a) Job fraud

(b) Smishing

(c) Vishing

(d) All the above

The first cyber law approved by the Indian Parliament is:
(a) IT Act 1998
(b) IT Act 2000
(c) IT Act 2022
(d) IT Act 2023

What does e-commerce stand for?
(a) Economic-commerce

(b) Electronic-commerce

(¢) Engineered-commerce

(d) Eco-commerce

Tally software

(a) Supports multiple languages in GUI
(b) Supports only English in GUI

(c) Is an open software

(d) All the above

The form number applicable for TDS in respect of salary is :
(a) Form 15
(b) Form 16
(¢) Form 17
(d) Form 18

The formula for VAT is:

(a) Output Tax — Input Tax
(b) Input Tax - Output Tax

(c) (Input Tax - Output Tax)/2
(d) None of the above

The golden rule of accounting is:

(a) Debit the receiver, credit the giver.

(b) Debit is what comes in. credit is what goes out.

(c) Debit all expenses and losses. credit all incomes and gains.
(d) All of the above
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In VBA the event is sometime triggered by:
(a) Clicking a mouse.

(b) Pressing a key.

(¢) Clicking a Joystick

(d) All of the above

. Which of the following VBA windows show the code of the active object?

(a) Explorer Window
(b) Properties window
(¢) Immediate window
(d) Code window

The total number of types of access specifiers available in VBA is:
(a) 2
(b) 3
(c) 4
(d) 5

The type of variable that cannot be declared within a procedure in VBA is:

(a) Project scope
(b) Module scope
(c) Local scope

(d) Global scope

In programming the title given to a group of objects is:
(a) Inheritance

(b) Polymorphism

(c) Class

(d) File

JavaScript language is:
(a) Low level

(b) Object oriented

(c¢) Structure oriented
(d) Procedure oriented

. The type of scoping used in JavaScript is:

(a) Sequential
(b) Lexical
(c) Parallel
(d) Literal

Identify the one which is not an error in JavaScript-
(a) Division by zero

(b) Missing of bracket

(¢) Syntax error

(d) Missing of semicolons

The operator or method that is used in JavaScript to identify the array is:
(a) isarray Type()

(b) typeof

(c) =*

(d) sizeof()
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[dentify the Color Format that is defined using the keyword rgb, followed by three numbers
between 0 and 255, contained in parentheses and separated by commas, with no spaces between
them.

(a) Heavy Blue Green Red Color

(b) RGB Color

(c) Light RGB Color

(d) RGBaColor

Identify the alphanumeric names that correspond to some current counter value in a document.
(a) Counters

(b) Class

(c) Object

(d) None of the above

. Choose the correct HTML tag from below:

(a) User-defined tags

(b) Fixed tags defined by the language
(c) Changeable tags

(d) Tags for links only

List out the odd one from the given options:
(a) Chrome

(b) Edge

(¢) Windows

(d) Safari

. Identify the one that is not related with DNS:

(a) Domain Name
(b) IP Address
(c) Software

(d) .com

Spam mail is:

(a) Important mail
(b) Junk mail

(c) Secured mail

(d) None of the above

“Blog” in internet is related to:
(a) Truncation of “weblog™

(b) Programming language

(c) The name of a computer part
(d) None of the above

. Identify the odd one from the given options:

(a) Hub

(b) Switch
(¢) Router
(d) Server

Telnet stands for:

(a) Teletype network
(b) Television Network
(c) Telephonic Netting
(d) Telegram Netting



27. The number of network classes is:
(a) 3
(b) 4
(¢) 5
(d) 7

28. What is the basic purpose of Proxy servers?
(a) Protects from direct connection of resources and clients
(b) It doesn’t help in connecting multiple clients with one IP
(c) It only deals with the Internet
(d) None of the above

29. Which of the following software is required to protect a computer network?
(a) Android
(b) Antivirus
(c) Firewall
(d) Trojan

30. In DBMS the best candidate key that is chosen to identify row uniquely is:
(a) Secondary key
(b) Alternate key
(¢) Primary key
(d) Foreign Key

31. A Data Dictionary in DBMS -
(a) Does not allow DBMS to access and manipulate data definition.
(b) Is the size of the disk storage device.
(c) Provide information about Meta data.
(d) Is organized in alphabetical order.

32. The command used to remove a stored function from the database in SQL is:
(a) FILTER FUNCTION
(b) DELETE FUNCTION
(c) ERASE FUNCTION
(d) DROP FUNCTION

33. Which is the right answer for ACID in DBMS?
(a) Automated, Consistent, Informative, Durable
(b) Atomicity, Consistency, Isolation, Durability
(¢) Automatic. Computerized, Information and Data
(d) None of the above

34. The language that requires a user to specify the data to be retrieved without specifying exactly
how to get is:
(a) Procedural DML
(b) Procedural DDL
(¢) Non-Procedural DML
(d) Non-Procedural DDL

35. Which of the following is not an image editing software?
(a) Paint brush
(b) MS word
(¢) Photoshop
(d) Canva
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The full form of JPEG is:

(a) Joint Portrait Englishman Graphics
(b) Joint Photographic Experts Group
(¢) Joint Programming Expert Grade
(d) Joint People Enterprise Grammar

Find the odd one from the given options:
(a) .TIFF

(b) .PNG

(c) .EPS

(d) .H

What is PIXEL?

(a) Elements of a digital image
(b) Elements of an analog image
(¢) Cluster of digital image

(d) Cluster of analog image

The default file name of Microsoft Excel file is:
(a) Workbook1.xlsx

(b) Workbook.xIsx

(¢) Worksheet.xlsx

(d) Worksheet1.xlsx

Footer in MS word

(a) Lies on the top corner

(b) Lies at the bottom of the page
(c) Lies in the middle of the page
(d) Is impossible to insert

The command that redirects requests for disk operations on one drive to a different drive for MS

DOS is:

(a) APPEND
(b) ASSIGN
(c) ATTRIB
(d) ATMDM

. Kernel in Linux

(a) Helps in protecting the software
(b) Helps in protecting the hardware
(c) Is a hardware

(d) None of the above

.0S is a/an:

(a) System software
(b) Intermediator

(c) Both (a) and (b)
(d) Neither (a) nor (b)

Which one is not true for Linux?
(a) Open source

(b) Kernel

(¢) GUI

(d) OSI
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Cache is a:

(a) Permanent memory
(b) Temporary memory
(¢) Secondary Memory
(d) Disk

CMD command in Windows OS:

(a) Starts CMD.EXE

(b) Starts a new window

(c) Starts the installation of new updates
(d) Shuts down the Windows OS

Which of the following software is not FOSS software?
(a) Libre Office

(b) Gimp

(¢) Linux

(d) Matlab

Which of the following terms is not related to network topology?
(a) Star

(b) Bus

(¢) Ring

(d) LAN

Which PowerPoint view displays each slide of the presentation as a thumbnail and is useful for
rearranging slides?

(a) Slide Sorter

(b) Slide Master

(c) Notes Page

(d) Slide Show

Hardware is the physical item of a computer whereas software is the:
(a) Product of a program

(b) Algorithm

(¢) Database

(d) Programming language
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